SHAD

KAWASAKI VERSYS 300X ‘17

KOVR37IF @&EZEZ7Zud
r N
D »
1 262146 x1 m\‘““ s> <
262147 x1 4 Q O
2 303045 x5 3304174 x4 4 304283 x1 5303025 x2 6302032 x1
M8 x 80 Din 7380 M10x 70 Din 912 @10 M10
s» N S <
0% O 0% O
730301752 83040711 Q302021x1 () 3041691 11303020x1 12302024 x1
76 M6 x 50 Din 912 M6 M8 x 50 Din 7380 08 M8
. J
/\WARNING!
ARy

Do not fully tighten
the screws until it is
ensured that the KIT
is correctly attached
and aligned.



https://www.motorcycleid.com/shad/

KOVR37IF @&Zarzd

KAWASAKI VERSYS 300X ‘17 [E/=}

SHAD

Discover other luggage systems & saddlebags on our website.


https://www.motorcycleid.com/luggage-systems-saddlebags.html

